
(a) (b)

1 2 3 4 5 6 7
Grid level

10− 3

10− 2

10− 1

L ∞
Er

ro
r

TC2: L∞ h errors
yUR without  h perdiffusion

VR without  h perdiffusion
VR with h perdiffusiony

y

(c) (d)

1 2 3 4 5 6 7
Grid level

10− 4

10− 3

10− 2

10− 1

100

RM
S 

Er
ro

r

TC2: L2 u errors
UR without  hyperdiffusion
VR without  hyperdiffusion
VR with hyperdiffusion

1 2 3 4 5 6 7
Grid level

10− 5

10− 4

10− 3

10− 2

10− 1

RM
S 

Er
ro

r

TC2: L2 h errors
UR without  hyperdiffusion
VR without  hyperdiffusion
VR with hyperdiffusion

y

1 2 3 4 5 6 7
Grid level

10− 3

10− 2

10− 1

100

L ∞
Er

ro
r

TC2: L∞ u errors

UR without  h perdiffusion
VR without  h perdiffusion
VR with h perdiffusiony

y
y


